| 26‘&74"’703



® w,,*

T o ' “
Net work, includia g wirk fpm

- Serings ¢ gravity

&ly werk | Pofeaf‘ta( Enersy (%"‘)
(‘«w\ n«g-; | .F,M seriags o 80:0:1-7

i c.lu de wofl: -Mq P' "\JJ' . Yravily
v only one place, B nosprinr
Or Chaage 1 Deight, The tug are

\é(nfwu'



I‘: ﬂb ;I‘lelOﬂ. - 7'0(‘4/ Me¢14m¢a(
éaor,x codServe-G |

‘fotql tler,; remams | .}mng

Wy = Ak raog






V€_Y) Achild of mess Soke Slides down
o hit of Ae,;dt O M. I sled

starts from rest ast fas a spoced
of d.b mls At’t/e bottom Ao «

ma ch Ne/q ¥ s /05t due to Frictren
wlq«(- 1y Feretronal Yorce ¥ 4.// Q0"

oabove Aorrdoatal
- Jom
Q‘ mechancq () el ol {A= O

s oiran g° ks
.-(;'ow"‘-{-,/..() 4.@(.4‘.) Wwes o
“ne = iL‘W;“M,I\

> {- (506X 26 «'s)‘- Ve VALV N )

NEEa






eXy Ao.56 k; block , stas t"z’ﬂ, From /et
shdes down a 30" inchae ¢ A
Mdr= ORS. After J/o'l,h; 85 cm
down the inchne, 1t Slides acress a
Fei ctionless Aori goatal serface an
encouanters a Spring (k= 35N/m)
0.) to/a't 15 MmaXimum CAAerJ:!/'M of
}/O’N'Ai
fle block Uhea goes buck «p inchive

bh) How Far A.Ioa, rachane does block
travel be}a/e co:maz ¢o rest




Fiud gpeed at &CMZ i
at tp V=0 :w: Z
bottem Vpe! $

e
V} s I).?va cdsneo — &“%A(:J"’J

- 0/7 /
42’& (Smo - et cos8) = 4/T4/s

for e

T (.2 Mm



1 &

sV -Ad = M’I) hs D5 s
%m/z’-éd :Mil.ma
'r‘.'ﬁug=malé‘mb rfd

Lot L (zm Sim& +#;)
et




A box slides down an inclined plane with friction
and compresses a spring with spring constant
K. The box then goes back up the incline to a
height h. | then replace the spring with a new
spring with spring constant 4K.

How far back up the incline will box go?

* A)same

+ B) Twice as high

¢ D) 4 times as high

* E) unable to determine



